Unit 4 Triangles Midterm Exam Re-Teach 2016 Name: 1 JE0 A
f

1. Find the missing coordinates of the triangle. 2. Find the missing coordinates of the triangle.
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3. Classify the triangle by its sides and angles given the two angle measure are 12° and 84°
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4. In the figure below, B is on R‘, Eison D_F, AC is parallel to 5;5, and BE is congruent to BF,
What is the measure of <DEB? R ’P .
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5. In the figure below, points A, C, E and G are collinear; B, C, D are collinear; and D, E, F are
collinear. Angle measures are as marked and m< D is 80°. What is the measure of <EFG?
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6. Find the measure of each numbered angle Pl ‘ L \0 )}
- ( AL A 4
A O\ M( p A S WY B
PR} [ANES vy - 1%0
Ne\oA LA+ *1 + 10 " el
P 2

é\__qgm,?.{'éB/l@



7. Amber, Brian, and Carson are friends that live close to one another. Which two friends have
the shortest distance between them? Which two friends have the longest distance between them?
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What two friends have the shortest distance between them? ) n N & UA + i W !@ \ .
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8. Partridge Creek, Buffalo Wild Wings, and Dakota High School form a triangle on a map. What
route would have the shortest drive? (i.e. Which two buildings are closest together?) Show me
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10. If PO is an angle bisector of <MON, find x.
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11. Find the measure of each side of isosceles triangle ABC with AB = BC if
AB = 4y,BC =3y +2,and AC =
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b. Name the 3 congruent corresponding parts:
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16. Write a two column proof.
Given: AB | | CR and E is the midpoint of AD
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18. Write a two column proof. '
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Unit 4 Triangles Midterm Exam Re-Teach 2016 Name:

1. Find the missing coordinates of the triangle. 2. Find the missing coordinates of the triangle.
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3. Classify the triangle by its sides and angles given the two angle measure are 12° and 84°.

4. In the figure below, B is on 4C, E is on DF, AC is parallel to DF, and B& 1is congruent to BF.
What is the measure of <DEB?

5. In the figure below, points A, C, E and G are collinear; B, C, D are collinear; and D, E, F are
collinear. Angle measures are as marked and m< D is 80°. What is the measure of <EFG?

6. Find the measure of each numbered angle.
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7. Amber, Brian, and Carson are friends that live close to one another. Which two friends have
the shortest distance between them? Which two friends have the longest distance between them?

X = m<A = m<B = m<C=

What two friends have the shortest distance between them?
Why?

What two friends have the longest distance between them?
Why?

8. Partridge Creek, Buffalo Wild Wings, and Dakota High School form a triangle on a map. What
route would have the shortest drive? (i.e. Which two buildings are closest together?) Show me

mathematically
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9. Find x.
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10. If PO is an angle bisector of <MON, find x.
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11. Find the measure of each side of isosceles triangle ABC with AB = BC if
AB = 4y,BC =3y + 2,and AC = 3y.

12. Find the length of each side of the equilateral triangle below.
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13. Identify the congruent triangles in the given figure
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a. Short cut congruence used

b. Name the 3 congruent corresponding parts:
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16. Write a two column proof.
Given: AB | | CR and E is the midpoint of AD

Prove: CD = AB

17. Write a two column proof.

Given: NT | | MO and NT=MO

Prove: <M = <T

18. Write a two column proof.
Given: ABL CD and AC = AD
Prove: B is the midpoint of CD.




